MID AMERICA \i MOTORWORKS

Pursue your passion here

Suggested Installation Instructions for:
627-105
Corvette Intake System by Volant, fits all 2008-2010
6.2L LS3 and 2006-2010 Z06 7.0L LS7

4 X 4 172
#060 ~  REDUCER  ypiANT AIR DUCT

FRONT VIEW CLAMP g

Q
THROTTLE
BODY

#072
MAF SENSOR MAF

GASKET ~ SENSOR CLAMP
@ 1/4* TRUSS

@) STAINLESS
STEEL SCREWS
HEAD SCREWS =
@ 1/4* T

VOLANT AIR DUCT

SIDE VIEW

1727 X 187
BREATHER HOSE
=

@ 3 3/4" X 2 3/8" @ 3 3/4" X 2 3/8"
SLEEVE SLEEVE

#060 #060 #060 #060

CLAMP CLAMP CLAMP CLAMP
VOLANT VOLANT
SIDE DUCT SIDE DUCT

@ 1/4* TRUSS HEAD SCREWS
VOLANT
FILTER BOX @ 1/4* RUBBER WASHERS
(G [ J <
Jd/olant
L VOLANT RAM AIR scOOP L P ki rnanit,

4 -1/4" Truss Head Screws
4 - 1/4" Rubber Washers

2 -33/4" x 2 3/8" Sleeves
1-33/4" x 3' Sleeve

1 - MAF Sensor Gasket
1-1/2" x 18" Breather Hose
2 - Stainless Steel Screws

1 - Volant Filter Box

2 - Volant Air Duct

1 - Volant Air Duct

2 - Volant Side Ducts

1 - Volant Ram Filter w/clamp
5 - #60 Clamps

1-#072 Clamp

Mid America Motorworks, #1 Mid America Place, P.0. Box1368, Effingham, IL 62401
800.500.1500 * Worldwide: 217.540.4200 - FAX: 217.540.4800 + www.mamotorworks.com * mail@mamotorworks.com
Copyright 2009 Mid America Motorworks



